Chapter 4 Test, Form 2C VY Swx+b,
lmw? slope-intercept form to model the situation: 7
A telephone company charges $28.75 per month plus $0.10 a minute for — e
Y= . O x 42825

long-distance calls.
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3. Write the slope-intercept form of an equation for the line gaphcd at the

right.

4. Graph the line with a y-intercept of 3 and slope — e
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7. Write an equation in point-slope form for the line that has slope L and passes 6.
through (-2, 8)
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8. Write the standard form of the equation y + 4 = — —(x. |
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7. Write an equation in point-slope form for the line that has slope é and passes 6.
through (-2, 8). - ) L ; 1
v Y —~F = ;—(x- -2)) oy =8y (12
8. Write the standard form of the equationy + 4 =— —(1' 1). '
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10. Write the slope-intercept form of the ggwetrenQf the line parallel to the 9,
graph of 2x + y = 5 that passes thro
-2 — v

- T

11. Wnite the slope-igtercept form of the equation of the line perpendlcular to 10. y = 2 x ¥+ )

the graph of y = ——}c 7 that passes through (3, -2).
“

12. A scatter plot of data showing the percentage of total Internet users w 11.

visited an online store on a given day in December includes the pomts
(2008, 2.0) and (2010, 4.5). Write the slope-intercept form of an equation
for the line of fit.
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12. A scatter plot of data showing the percentage of total Internet users who 11.
Vi rrregline store on a given day in December includes the points
(2008, 2.0)2md (2010, 4.5). Write the slope-intercept form of an equation

et of fit. 4
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Chapter 4 Test, Form 2C (continueq) _y2
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For Questions 13-15, use the data in the table. ._,013. gg 80 | !
+ N So _'w - z E- 70\ —a
§“' 601 ]

Time Spent Studying (min) /| 10 20 30!
Score Received (percent) \ 534 67 | 78
s i h 2 910 20 30 40 50

13. Make a scatter plot relating time spent studying to the score received. ﬂ.—-— T ?,':,?,’,'f,ti';;dyi"g '1 S

14. Write the slope-intercept form of the equation for a line of fit for the data. 40 ‘ig, b4 -+
= : .
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Decade f
Seats

1970s | 1990s | 2000s - 36\_.2:.5

43 52 83

16. Find an equation for the median-fit line. y - )c (aSs#? P
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17. Predict the number of seats apportioned to California in the 1930s.

18. skip —;Q K Ig‘-
19. If£(x) =22 find f~1 (). = - )3';5“
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20. Write the inverse of 6x + 8y =13 in f ! (x) notation.




18. skip

19. If £ () =27, find f ~* (x). ><') fs —Lfy \B
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20. Write the inverse of 6x + 8y = 13 in f ~! (x) notation.






